	Simpsons Mini Murder Mystery

	Who
These are the 6 suspects in a murder. 
Solve the division sums. The victim got the best deal, the murderer got the worst.

	Bart
[image: http://t2.gstatic.com/images?q=tbn:ANd9GcTKL46qVTqAKbG245n3xVBjDPsZfiCESnkWvtv_tttWzQ683vUl]
 Bart bought 15 squishies for $52.50

	Mr Burns

[image: http://t3.gstatic.com/images?q=tbn:ANd9GcQ-gI0LpcX1nTbP91xo6MRuIoC_GtX7bl6L3ofvva6TNRYTgm_a]
Mr Burns bought 14 Squishies for $50.68
	

   [image: http://t0.gstatic.com/images?q=tbn:ANd9GcSfFEC--sE5y39oTAWapEWJMBu-GkzTcpGnwluyub8McQyMTG8ziA]

Mr Skinner bought 24 Squishies for $76.32

	Ralph

       [image: http://t2.gstatic.com/images?q=tbn:ANd9GcQRDtOj3V3BCSZhpQZaGpklexMVgDiWdhcoTli3X2Ts-87Txl-p]
Ralph bought 8 squishies for $24.16


	Sideshow Bob
[image: http://t1.gstatic.com/images?q=tbn:ANd9GcSjLxwIoHtnsl9MzROBqj9M_PUUT9EmpSdJAc7uFNjgqmKt3JIP-g]
Sideshow Bob bought 9 Squishies for $18.54
	    Millhouse
    [image: http://t0.gstatic.com/images?q=tbn:ANd9GcQn6KVJrh8uClAmDjYYUl6o3EPn3NFWvGoMHV_-gv1Epz3kJajI] 
Millhouse paid $44.46 for 13 Squishies.

	

	When 
The Number in the Hundreds Column of the answer will tell you the day (Monday = 1 etc)
The Numbers in the tens and units columns will tell you the date ( 01 = 1st etc)
The Number in the tenths and hundredths columns will tell you the month (January = 1 etc)


Clue – Divide 1290.18 by 6
          

	
On ________________the ___ day of the ______month
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